
9.6 Solving Problems with Compound Functions

1. Solve the following two inequalities by graphing the two functions and using the graph and trial and error.
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2.  $1000 is invested at 5% compounded annually. $750 is invested at 7% compounded annually. When will the $750 investment amount surpass the $1000 investment amount?

3. Solve the following inequality by graphing the two functions and using the graph and trial and error.  HINT YOU WILL NEED TO FULLY FACTOR THE NUMERATOR OF THE FIRST FUNCTION TO BE ABLE TO GRAPH IT.
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